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PART - A Marks : 40
o ' FF ;40

Note : Attempt all the twenty questions. Each question carries 2 marks. Answer should
not exceed 15 words.

e : a vo Wl b T AR wdw we ¥ RA 2 oim MEiRG ¥ 9 g
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i Problem of choice.
Uy @ gEE|

2 Who used the phrase 'invisible hand' ? What does it explain ?

‘HEYT T A WYE B vAm e fewr wn ? ww w®n welid wwar ¥ ¢

3 Consumer's surplus.

JUHET B TG
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4 - Cross elasticity of demand.

HAT @ RS Wi

5 What does production possibility curve explain ? Why it is concave to the origin ?

STIST WHIET Tob A0 a BT § 7 T8 A% a4y B A AT w6 a7

o Lorenz curve.

GirslcEd
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7 Kinked demand curve.

Rgfem P <5h)

8 Oligopoly.
ST |

9 What is opportunity cost ?
ST W FT ¥ 7
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10 Accelerator,
GECH

11 Which institute is considered as 'lender of last resort in Banking and why 7

%ﬁwmﬁﬁﬂmaﬁww%qﬁaﬁ?

12 High Power Money.
o= ot T
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13 Differentiate in inflationary gap and deflationary gap.
Ty oW Ud ‘amily oW § et Bigl

14  Okun's law.
e W Frml .

15  Laffer curve.

GLaecEA
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16  Social overhead capital.

- gEiSe SO dem

17 = What is the basic difference between revenue expenditure and capital expenditure ?
TS Aq q Yol =E A NUTeE T § 7

18 Imperative planning.

YIS T |
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19 Balanced Budget multiplier.-

Hgfed a9 o1

20 What is a tight monetary policy ?
werc g Ay Y we ¥ ?
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PART - B ' Marks : 60
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Note : Attempt all the twelve questions. Each question carries 5 marks. Answer should
not exceed 50 words. '

A THT 9% wsﬁ%aﬁ'{a"rﬁa@rlmqw%_& s Truffa &1 5ot w0 ot @&
CACENL E U ) (]

21  Brnefly discuss the -critique of indifference curve approach.

HAAF--gm efewmor & el W't-i@ltrfffrﬁ?m‘n

22 Examine the Kennesian theory of the demand for money.

IR W W ¥ Henaw R @ wdem S
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23  Bilateral Monopoly.

e Ty

24  What does the Phillips curve show ? Point out it's weaknesses.

THfA o8 41 Il & 7 39 WB Wl Al 30 sial
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25 "A monopolist can either control the price or the output. He can't controf both”.  Explain.

“Qtﬁwﬁrﬁr&ma}ra%ﬁaaﬁﬁuﬁamwm%mwwaﬁ A w AR
e gl

26 Briefly discuss Keynesian theory of Income determination.

kw1 % ema-Prafor frgm @ Wit smeEn SR

12-1] : 12 [Contd...

R O B0




1.

1...
Il

27 Give arguments against classical model of determination of income and employment,

o wd demr Feior & ulefeq diew & freg a% R

28 What are Isoquants ? How does it explains the returns to scale ?

ST gl ¥ ?%ﬂmﬁ%mﬁ%ammﬁm%?
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29  Discuss the difference among impact, incidence and shifting of taxes.
HER, B & &Y fad & w0 99 qae)

30 What are the cannons of taxation ?

B F g = ¥ O?
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31 Describe various indicators of economic development.

s faama ¥ R gEsl @t aviw @it

32 What are the main objectives of planning in India ?

AR § ONE % WE 29 wl § 7
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PART - C Marks : 100

& — Y e ¢ 100
Note : Attempt any 5 questions. Each question carries 20 marks. Answer should not exceed
200 words. '
qE : E‘?l'&“iﬂMHWWIW?W%%‘I?OW%HW%IW?OOSﬁﬁ"@[
afue #& B0 =R -

33 Explain consumer's equilibrium with the help of Indifference curves. How is it different
from the law of equi-marginal utility ?
mﬁmﬂaﬁﬁw%mﬁm%wﬁwzﬁmlwwﬁsﬁww—m
SyEifer Prm ¥ Hg P % 7 _ _
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34

On what variables is the Human Development Index (HDI) based ? What is the rationale
for the UNDP to construct Human Poverty Index (HPI) along side the HDI ?

g Tye gaw B T T enaia @ ? U A E W R I 6 W -
1y A SEE gew % P @ gwiMr R’ ¥l '
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35 What is discriminating monopoly ? How is price and output determined in discriminating
' ‘monopoly ?
NEI@d TSN 07 ¥ ? 560 #Ha qu saed Ha e @ ¥ 7
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36

What do you mean by monetary policy ? Discuss different instruments and their
“effectiveness in India.
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37 Discuss the principle of Maximum Social Advantage in theory and practice.

foera ud =aEr ¥ vy gmaice @ % feera %0 9ve BiR)
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38 What are the main objectives of fiscal policy in a developing country ? Discuss the main

mstruments available to the Government.

ue faeraslie d9v § VTR N & uga sgem @ ¥ ?wr(a%mﬁ'saug@wvﬁ
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39 Critically examine the impact of liberalization on an economy.
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